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Exercise 1. Referring to slide 15, start with the Weibull density and derive the Survival function. Hint: Use change of variable, i.e. let u = -((x(
Exercise 2. Starting with the definition of h(x) on slides 13, derive the second formula in slide 16.

Exercise 3.  Verify all the formulae on slide 18.
Exercise 4. The median time to event for the Weibull distribution is:
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a. Write the Weibull density in terms of med and (.

b. Find the relationship between the median before tc and the median after tc for a one change point Weibull parameterized in terms of (1, (2, and the median before tc.

Exercise 5. Verify the last 5 lines of NONMEM code on slide 21. Understand that OLDT is just TIME-1. Hint: Use the info from slides 13 – 16.
Problem 1. Run c401.txt and make an appropriate plot of the modal random effects estimates. Is it improved from c400.txt?

Problem 2. Run c402.txt. How does it differ from c401.txt? Is there any value for the change point Weibull? Simulate data under both c401.txt and c402.txt and compare Kaplan Meier curves for TAE with respect to the observed TAE. Do c402.txt and c401.txt form a nested model pair, i.e. can the likelihood ratio test be used here?
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